x1
x1 A2 x0
DB 33560l dogrmgsbo bdgds
x1 A3 0
1 3 5
MCCB_$_1125A \ 3 \ 3 \
m125A - 5] 51 3
= > I> I>
L— > | B> | B>
2 4 6
-CU1
1 2
i
301 4
=
501 6
e
80A
LTS-
160/0
0/3E
L1
L2
L3
N _ N
-
L1 (L2 L3 [N
-CKU1 m -Q-1 1 3 5 -Q-5 1 3 5 -Q-6 1 3 5
S N S M SRR s STETEA
+ 50/3/C 7 f 6 50/3/C 5 7 6 80/3/C 5 7 6
PE
PE _ PE
A4
NYM 5X16mm?
N
= SA-3x63>
GEN B . W 1 \ 2
380v ‘ii N
N\ S 0
-Q-2 MCB
50/3/C
-Q-3 1 3 5
MCB SO
50/3/C 7 f 6
6306905 Q4 Q5 Q6
&030 NYM 5X10mm? NYM 5X10mm? NYM 5X16mm?
boddwszMY 333 13,52 8,49 26,39
©gbo » 25,71 16,82 50,18
S@l-) agmaba.%@gb@ob UPS-80 300535¢00 33905 Joawsgdol Jugaro 8Egxntgwgdo Joamsgdol Jugero gomdMdS-
Q©565b9EYOd 5 39B507gdd 39300905 39630305
Page 01

Page 09




